Interactive activity — Numerical puzzle
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This activity allows the user to complete the horizontal basic operation algorithms which can be

seen on the upper left (?2? =?):
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SECTION 1

In this area we will introduce the operations. In 0 Introduzca las operaciones

these fields (1) we will enter the numbers to operate,

with the drop down list (2) we will choose one of the ]

four basic operations, and field number 3 is for the 5

results, but Ardora calculates it automatically. In these 7
3

fields we can also enter positive and negative numbers,
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but never decimals or fractions; the activity will only

recognize integers.
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When using the division operation, it is advisable to enter firstly the dividend and divisor and

then select the operator from the dropdown list, as when a cell is empty, the program assigns the value

“0” by default. If we write only the dividend and then choose the division operation, Ardora makes the

calculation automatically and divide by zero (infinity =), so it will show an error message:

Moreover, we should also have in
mind that the user will not usually
choose the same algorithms that we have
introduced to edit the activity if some
results can be associated to different
operations, so it might happen that at

the end of the activity there is a

-
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| Division by zero.

Press OK to ignore and risk data corruption.
Press Cancel to kill the program.
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combination of numbers left without any possible association so the activity won't be successfully

completed:

Efectia as seguintes operacions:
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Therefore, in case you want to make sure that the activity will be successfully completed, the
creator should give the user a list of operations without results so that he could choose the same

numbers and operations previously entered while editing the table.

SECTION 2

9 Seleccione oz distintos parametros para a actividade
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In this field (1) you can adjust the width of our activity; numbers and operators will fit to this
width and height will be automatically calculated by Ardora. Further to the right, we can choose the
font (2) and size (3) for the numbers and operations. It is highly recommended that the results of
operations have a different colour from other elements of the algorithm; this background colour can
be chosen in field number 4.

In these fields (5) we can adjust the width and height of the boxes that will contain numbers
and operations. We have to coordinate this size with the font

size entered in field number (3), because if it is too small, it '2‘ '2_ '2‘ R Y .
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will show strange effects between cells like the one shown on

the photograph on your left:

In this drop-down list (6) we will choose the type of line for
the boxes when they are selected and in field number 7, the type of line for the boxes while they are

not selected:
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Finally, these buttons (8) will determine if the activity will have rounded corners, and by

checking this box (9) we will make the activity compatible with touchscreen devices.
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